7/22/2019

Combined Higher Secondary Level (10+2) Examination-
2018

[Roll No.

IRegistration No.

Name

Test Venue ASKD Education Institute
Test Time 1:00 PM - 2:00 PM

Test Date 02/07/2019

Section : General Intelligence

Q1 Wﬁ?ﬁgﬁﬁmmﬁmmﬁﬁm%ﬁﬁmmﬁ?ﬁmﬁ
Haftra B

81:63:74:__
Ans  of 1 33

X 2 23

/5 3.43

& 413

Question ID : 98958015456
Status : Not Answered
Chosen Option : --

Q.2 vuw & O ST Hee-AeeT TUTHIT B A ST T ¥ 6 TET 9 Ged & A@TF & B S
T AT A

3 5 L
1 | 4 2

Ans X' 1.3
K 2.5
o 3.4
54

Question ID : 98958015461
Status : Answered
Chosen Option: 3

P oA & o sy F Reaw P Ay
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W2 18
X3 14

X4 20

Question ID : 98958015463
Status : Not Answered
Chosen Option : --

Ans X' 1 463296
75 2. 463729
o 3. 463269
75 4. 463239

Q.4 TfE PEAR®Y 7519 3R TOIL BT 2693 & U H HISd<g fvdT 7T § | 9f DOCTOR &) fpd
YPR BIedg [Pl STEM?

Question ID : 98958015494
Status : Answered
Chosen Option: 3

STQ?
Ans  of 1. DABJGAY

75 2. DAJBJGAJY
75 3. DEIBJGEIY

75 4. DAEBJGAEY

Q5 g 23@1 YTuT #, TABLEPADS %1 BADCYGAPJ fer@T SiTaT &1 €Y HT9T & BACKSPACE 31

Question ID : 98958015444
Status : Answered
Chosen Option : 4

(3,13, 196)
Ans  of 1. (5 15,350)
75 2. (6,16,569)
X 3. (4,14,441)
75 4.(2,12,287)

Q6 wagguﬁgﬁﬁﬂwﬁaﬁmwﬁa%aﬁﬁvmwﬁwﬁ
Tefa g1

Question ID : 98958015458
Status : Not Answered
Chosen Option : --

o0

07 g ey & 999 F fSud a9 & i sl dafafa

2/28



7/22/2019

-
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Question ID : 98958015464
Status : Answered
Chosen Option : 4

Q8 37 IF MW FT TIT FI A efaitET 9 F 17 F 9T T TEY F{=oT AT £

x- O%

X2

X D

v

Question ID : 98958015467
Status : Answered
Chosen Option : 4
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Q9 IV faed o1 T &Y & TR S1eR-HE | I ave Hafta T S goT 38R-99Yg uga
3HeR-TE | Tafa g

LENOVO : EKISSQ :: FINGER :
Ans X' 1. YOIBT

25 2. YNIKBT

W 3. YOKBT

25 4. YOIKCT

Question ID : 98958015446
Status : Answered
Chosen Option : 3

Q.10
fopft fif3ra s § SLUMBER &) PORPYHO & &0 # ®lsag fhar 11 81 St pis &
PURPOSE &1 ¥ U R Bl far smem?

Ans X' 1 SRUMRPG
X 2.QvsQPTF
5 3.0TQONRD

o 4. mxosLvB

Question ID : 98958015493
Status : Answered
Chosen Option : 4

QM e & 2 arpfaat #F RET T IHER wF FES F A A Fer s 5w
FES T W T GEE I

e R —
1 1
.--(1---- e p-=-ldA
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Question ID : 98958015465
Status : Answered
Chosen Option : 3

Q.12 T F@Iait F T BT aNT 336 § SR U SR g BT JUTH 3R GO aYT TR BT
3T 1 : 2%|aﬁmﬂaﬁvﬁtﬁm$m§mmaﬁ =

Ans  of 112
X 2.16
X 3.10
7 414

Question ID : 98958015454
Status : Answered
Chosen Option : 1

Q13 ﬁaﬁ@amwﬁﬁ%mmwﬁ%aﬁ%%wﬁvﬁ%aﬁvwm%lw
3T =T BT TG

Ans X' 1. 3864

W 2. 6394
75 3. 2936
X 4. 4638

Question ID : 98958015460
Status : Not Answered
Chosen Option : --

Q.14 R BT TGY AR F I TE § 9 R BT Iy * AR
Ans X' 1. TR

W 2. 7.
F R
X 433

Question ID : 98958015447
Status : Answered
Chosen Option : 2

Q15 Qﬁa&ﬁ%ﬁmmmﬁﬁ%ﬁnﬁa&nm%ﬂmw@ﬁmwﬁ@
T R 4T B TR B

ab_bcab_b__ab_bcab_bc
Ans  of 1 ddcdd

/X 2.dcdcd
x 3. cdedc
x 4. ccdee

Question ID : 98958015448
Status : Answered
Chosen Option : 3

Q.16 TUTa P} Mg fHet Ien w1 e 71 <) 9 uga IS oy fandt wem &1 o ot st
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3y forait 82
Ans  of 1 64

X 2.27

75 3.62

X 4.9

Question ID : 98958015497
Status : Answered
Chosen Option : 2

3,27,243,2187, ___
Ans X' 1.13561

75 2.21377
o 319683
X 4.27139

Q.17 fFfafEaa e & frea M & 4 & e faes § @ a8 9. &1 a1

Question ID : 98958015499
Status : Answered
Chosen Option : 3

4,10, 27,140, 7
Ans  of 1 973

75 2. 397
X 3.937
75 4,379

Q.18 @ g & Sa-d T uy g (2)  ®=E R st

Question ID : 98958015459
Status : Not Answered
Chosen Option : --

(8,101, 35)
Ans X' 1. (9,121,39)

W 2. (7,89,31)
X 3.(6,76,27)
75 4. (11,136,47)

Q19 wqﬁuﬁﬁmwﬁmmméﬁ%mwﬁwﬁ
wafta g1

Question ID : 98958015457
Status : Not Answered
Chosen Option : --

Teg HafUd &1
qHas : A

Q.20 I G- BT TG Y A 31 Teg I Tve | Haifera § o Frefafea sre-gm A
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Ans &X' 1 U ged
/< 2. dge g
X 3.9 : 3Rt
of 4. de

Question ID : 98958015450
Status : Answered
Chosen Option : 4

Q21 37 3l & T FT AT & T AFT @ F HTST T W A

o Alo ok < Mo @
< 3 v A @
to SRRV (v RN PN @le <ol B

4
XZ. &

@ =

F <
X 3. Q

A @

< @
X 4. 3:1-

v A

Question ID : 98958015462
Status : Answered
Chosen Option : 1

Q22 ¥ v g1 F HFA F e FR W T ar By 7w By i @ odur ofF # 9uw #

£
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Question ID : 98958015466
Status : Answered
Chosen Option : 1

Ans

Q.23 ﬁaﬁn@amaﬁmﬂ%&?ﬂqaﬁ?wwﬁ%mﬁwﬁ%%eﬁ?wm
|

21 3 3T 3HeR-THE
25 1. uQJF
/5 2. AWDZ
W 3. Dws
75 4. OKPL

Question ID : 98958015451
Status : Answered
Chosen Option: 3

Ans

Q.24 TS MARBLES &1 181132192512 % ¥U § ®led (Il SITdT g 3R INVITED B

221969942520 % FU H Pled [T SITdT 8, df COMPARE $ $& BISag [hdT ATTM?

75 1.1312531653241
/X 2.1322531253221
75 3.1322531652241
W 4. 1322531653241

Question ID : 98958015445
Status : Not Answered
Chosen Option : --

Q.25

Ans

frafiafad 2edl @t difde ik w1d e v & waafRud $31

1. gfomH

2. YR AfHar
3.3y

4. ATHTHA

5. 7S

7501.52,4,1,3
75 2.54,2,1,3
X 3.4,52,13
442513
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Question ID : 98958015443
Status : Answered
Chosen Option : 4

Section : General Awareness

Teg F1 3R siaa: faorel &t o8 ¥ snfaseR & fog afva
Ans X' 1 THE A
75 2. geual A
W 3 wseA
75 4. A W enamg HRA

Q1 o hefe o) Fafafeaa § 3 feg nfafafu a a%ﬁmﬁaﬂﬁmmmmﬁﬁ

Question ID : 98958015070
Status : Answered
Chosen Option : 4

WA HATAT/IHRT 3rdfee forar T Y12

Ans  of 1 FEREIY
X 2 SR
/< 3. FRaeRA
75 4. yam s IR

Q.2 n§2019ﬁq§wm%mum$m frrafafaa % Q fea &) gar srded sk

Question ID : 98958015083
Status : Not Answered
Chosen Option : --

Q.3 THfIdr urHa f6w urdl & sremer 82
Ans  off 1. Tl SRRt T

25 2. e urdf offes sfean
/< 3. g aref
75 4. Sgo wH uret

Question ID : 98958015082
Status : Answered
Chosen Option : 3

a4 fafafEa ¥ § oA 7d <o v F a3 s e
Ans  of 1 Ticradt

75 2. 9RER

X 3w

X 4. gmas

Question ID : 98958015076
Status : Answered
Chosen Option : 1

Q.5 724i aiitfe &9 fhed wgIIg 2019, ¥ mafera far T Ui
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Ans

251 scdt
F R
W 3w
/X 4.gRCs fFen

Question ID : 98958015065
Status : Answered
Chosen Option: 3

Ans

Q.6 TERTd &1 IS gRe1eh=r wfeR Fafaf@a & I fra 7 & frR fRa @2

X 1T
7< 2. Ha
25 3. At
o 4 T

Question ID : 98958015074
Status : Answered
Chosen Option : 3

Q7 FafafEad 3 fra e § g 9@ oifw 3fea o1 genaa 32

W 2 =R
/X 3. feh
X 4. BIaH

Ans X' 1 BB

o 25

75 3. TETS

75 4. TR

Question ID : 98958015075
Status : Answered
Chosen Option : 1

Q.8 1872 ¥, YIRd & IIURIRI @ls AU B g T 1 71E oAt
Ans X' 1. dg

Question ID : 98958015077
Status : Answered
Chosen Option : 2

Ans

x 1. Society for Worldwide International Financial Telecommunication
J 2. Society for Worldwide Interbank Financial Telecommunication
x 3. Society for Worldwide International Financial Transactions

x 4. Society for Wireless International Financial Transactions

Q.9 Inthe context of international banking transactions what is the full form of SWIFT?

Question ID : 98958015066
Status : Answered
Chosen Option : 3
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\,

Q.10 <t A ) Frefe A & w0 & aifed $A & fore Afe A frw 9@ &1 fagus

BT 3Tava® g2
Ans X1 i
W 2. @
25 3. o
25 4. 3mRA
Question ID : 98958015068
Status : Answered
Chosen Option : 2
Q.11 HeTEAr M Y A B A2
Ans X' 1 gRMETE
W 2. gacher
X 3. FHAER
7 4 DRI
Question ID : 98958015078
Status : Answered
Chosen Option : 2
Q.12 ST BT YTHT H, RAM HT JUi =0 FIT 82
Ans X' 1 30 THw AERT
2 eu TR AER
25 3. e T FERY
X 4. Rftfes vl auR
Question ID : 98958015071
Status : Answered
Chosen Option : 2
Q.13 fFafaf@a d & 59 TR F 36 G R 1T YRS B $Is T 78] fHradar g2
Ans &K 1 fTaci ST @1
W 2 I
75 3. uzE =
75 4. Sga @
Question ID : 98958015067
Status : Answered
Chosen Option : 2

Ans

Q.14 FafafEa & F Si9-a1 36 gArd) afs ot B3 & fog siftrpa ¥1?

X 1. srseongans de
X 2. TEEiuw 86

W 3 urdTRe So

X 4 PrOREE §%
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Question ID : 98958015086
Status : Answered
Chosen Option: 3

Q.15 2019 F AHTUT AT & aTc Frafifa & A frae! FTO T d ST a1 31 T/
UT?

Ans X' 1 TRTYER
o 2. S ish
/< 3. ga et
75 4. Ao @S

Question ID : 98958015088
Status : Answered
Chosen Option : 4

Q.16 g}%ﬁmaﬁﬁﬁ?ﬁmaﬂaﬂﬁwﬁaﬁﬁ Jdpd fFd T HT ATST B UgAT SA1at
?

Ans X 1. TR ETel/eTe
X 2. gy el e
75 3. ds s gl
o 4 Tha e

Question ID : 98958015064
Status : Answered
Chosen Option : 1

Q.17 gg?ﬁ,mﬁmaﬁvmmmmmﬁmm
?

Ans  of 1 Wiea
X 2. ST
75 3. s
X 4. R

Question ID : 98958015080
Status : Not Answered
Chosen Option : --

Q.18 fawaR 2016 H, AT I HRURRM TP &A1 A T Hiarga yra v e e
gfmerTam R
Ans X 1.5 (GUUTUD)
X 2. 7P (TTEHYTa)
o 317 @aenien)

X 4.7 (SouAStamsd)

Question ID : 98958015087
Status : Answered
Chosen Option: 3

Q.19 el weR fra Tsu § fRIT 82
Ans
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f 1 Flcw

X 2. a
X 3. TR
75 4. affrerg

Question ID : 98958015073
Status : Not Answered
Chosen Option : ==

Q.20 s A AT fay FU 2019 Ve aTe W A HT ITH W B §2
Ans X' 1 gifdes uis

X 2. T o

o 3. Jfeazmf

75 4. RRR yam

Question ID : 98958015085
Status : Answered
Chosen Option : 1

Ans o 1 0T anpYe
X 2. aifeE
F S SIS
X 4.3 T

Q.21 SIS 2019 ¥ S7ds A mafora fay®u 2019 F A vgd A d
7|

& g

Question ID : 98958015084
Status : Answered
Chosen Option : 1

Q.22 124 9 TN fadae, 2019 fHad Wefua 32
Ans X' 1 feud A

o 2. anfiie amRer

X 3. TR e o Fefiarur

75 4. ead

Question ID : 98958015081
Status : Answered
Chosen Option : 2

Q.23 frafafea A & J fra i 31 iy, 93 gu o &1 7y & FH g 82
Ans  of 1 TTESH GeBTSS

75 2. SRS aR S

25 3. smifar

X 4. FARA

Question ID : 98958015069
Status : Answered
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l Chosen Option : 1

Ans

Q.24 YRS AW AR BT a1 IR > 7 Iva & i@ e d ¥ A fra = @
2019 BT AHHHT TATG ST 41?2

X 1. PR
75 2. FRme
X 3. srcadt

o 4 feaaga

Question ID : 98958015079
Status : Not Answered
Chosen Option : ==

Ans

Q.25 $eI B /T, 'Ubuntu' FT 8?2

2 1. 3R 1 A farita SiteawR dbs
/< 2. SAP ! T® ERP JUTat

W 3. 3 Y e SR e

/X 4. TEEIR R faeRid wrRard

Question ID : 98958015072
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q1 3R 2443%% + 242° = (2V3x +V2y) (Ax® + Bxy + Cy?) & o (24+/6B—C) T &
s X1
X2 8
V310
X4 14
Question ID : 98958015596
Status : Answered
Chosen Option : 3
Q.2 sin®25°+ sin?65°
it o o o 3
sin“71 cos71°sin19 ] a?rm‘cﬂﬁm :
[605224“+ cos266° + + %
as X 13
X2 0
X3 1
v 2
Question ID : 98958015713
Status : Answered
Chosen Option : 4
Q3 AR B # a0 MY F NI 6 5 ¥ TR AT IE, T IIA 5 : 4 o 3@ H 12 79 F A€ A

¥R B #1 3g & AT = Fem?
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Ans x~|_

@
L W ~J 00
MR 0 3~

Question ID : 98958015592
Status : Answered
Chosen Option : 3

Q4  oF FFAEFR O F TF 56 SFha AT HEEE FEer 132 m? 3T 528 m3 ¥ 9w i F=E (m H)
Far §?
(m = 22/7 A1)

1
F R
2

5
R
V22 =

5
3.1
X33 =

1
K4 3=
2

Question ID : 98958015587
Status : Answered
Chosen Option : 2

L 4 tan?59°— —————— ST &

cosec®31* sin?59%°cosec?59°

Q5 3R cosec31°=x B, & sin?59°+
Ans X1 xF g

V2 x2—1

K3 x+1

X4 x—1

Question ID : 98958015603
Status : Answered
Chosen Option : 2

Q.6 el =igslsr ABCD & 9fiF A, B, C 3R D & oo W f&d &1 <A, «C &1 faeem § 3R <D, <B &7
ERTAT &1 4B 3T £C & AT F Fw Hew §2

Ans X' 1.18°
X 2 20°
X 3. 28°
v 15°

Question ID : 98958015602
Status : Answered
Chosen Option : 4
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Q.7 fgzr I &5 3w (AR 7%) fafew ut F v wer & fee i wer s Rt fr g
g &

400

375
350
350 325 320 325
300
75 280
%

B0 15

2
® Science

150 u Arts

u

50

a1 2014 2015

012 2013

Years

Number of students
8 8 8 & 8

o

2011, 2013 3¥ 2015 # Fem F gl & Fo wew, v v 9= 3o & o= & Tenfiat &
frae vf3eE 7 ¥ (T SedeT T o9 TEN)?

ans X 1. 34.2%
X 2 32.8%
V'3 33.6%
X 4 31.4%

Question ID : 98958015607
Status : Answered
Chosen Option : 3

Q.8 PAT Rl geq & Rig A ¥ vw Todan ¢, 3 AB =7 &t vF ST § B 4BAT =72° ¥ 3R e
R v fig C 5@ O & 5 «CBA=58° §, & 2CAB 1 &9 #1 &7

Ans x1, 62°
X 2. 48°
v 3 50°
X 4 60°

Question ID : 98958015601
Status : Answered
Chosen Option: 3

Q9 37500 F TR vs WRTT TIfF ThfE == T W 2 9 F a5 TeT 8,748 g AT ¢ Tger H
ma‘t#ra’lg:ﬁarﬁrtg T ¥ R 3o of¥r 97 ST SO F4T Eeme

Ans X 1. 24,140
X 232,760
X 328,180
W 4. 35520

Question ID : 98958015593
Status : Not Answered
Chosen Option : --

Q10 s A & B Fr A 80 km/h i e i & | S e 75% 0 F A-fEs wHEa # aw
T 3R AW g x km/h Fr IR AT T T H x w oA &

Ans X 1. B4

16/28



7/22/2019

X 2 56
'3 B0
X4 B4

Question ID : 98958015586
Status : Answered
Chosen Option: 3

Q1M fEr T &7 3w (AR Iw) e ot § o oo & e ik Fer a9 F Reanfiet & =

T g
35
350
35 35
300
250
® Science
" Arts

400
012 2013 2015

Years

8

a

g

Number of students
.
B8

w
8

350 320
75 280
2 ZESI I
o
011 2014
2011 3 2015 # o= & Teaidat #1 ga w@ear @71 2012 v 2015 # war & Remfid & oo
TET ® FT HIE 87

Ans X'1.9 - 10
X211:12
V312 :13
X48:9

Question ID : 98958015606
Status : Answered
Chosen Option : 3

Q12 80 ReziiEat & Fam &, 60% ezt g« # =T A § 3R o 7E e €1 Tew I wEg
3ﬁm?-ra$|;r,aﬁmﬁm\gcﬁgmﬁs%mhmmﬁ@ﬁﬁwaﬁﬂammikg%,a’r
e AR WHE 1 AEd T= (kg H) #4182

Ans X' 1. 60
X 2 545
v 525
X 4 576
Question ID : 98958015588
Status : Not Answered
Chosen Option : ==
Q13
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& T &3 3w (AR ) fafdes aut F v wpe & Ree i wor v & Rewfit & Fww wr

gofrar &1
375
350
325
'
i

400
320
w13 2014 015

Years

350

35
3 275
50
225
50
o
2011 012

2011, 2013 3R 2015 # B== & el Fr fwa g=ar 2011 & Far F Femi¥ar & gew §
A gfeeE I3 32

x 1 11&%

g B B

| Science
u Arts

Number of students
PO
8 &

Ans
x 2 83%

34

X 911 %

Vi 9=%

Question ID : 98958015608
Status : Answered
Chosen Option : 4

Q14 s a+b+c=4 3R ab+bc+ca=1 & T a®+ b3 +c® —3abe & AT &
Ans X 1. 47

& 2 60

V'3 52

X 4 50

Question ID : 98958015598
Status : Answered
Chosen Option : 3

Q15 AABC #, £B i £C & wA-gRe=w wHg@! & g D W e ¥ 3FR £BDC= 104" &, & 2A &
E -

ans of 1. 28°
X 2.26°
X3 320
X 4 30°

Question ID : 98958015599
Status : Answered
Chosen Option : 1

Q.16 T Ta== &9 & 40% AT, I AR §1 ass AFE Adaas d & 40% FRew ¥ v
25% Fr-afrss Ami Aaemar @R §| Frew drafrs Al Aagenet & goer & e afrs
A AdeTaTHT # T A i &6 82
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Ans X' 1. B0
2. i

> 483

X 3 40

2
v 462
3

Question ID : 98958015590
Status : Not Answered
Chosen Option : ==

400

w
2

B

Number of students
o
& 8

g

w
8

350
350 325 320
300
s %0
30
225
0

2011 2012 2013 2014
Years

Ans X 1. 2013
v 2 2012
X 3 2011
X 4. 2014

375

325

m Science
m Arts

2015

& ¥ & For & Ttz & = Bew & goe § 30% ¥ 0w 3

QA7 & T EF dNE (AR A%) fafdew At F v wgw & A AR Fer a9 & RemtEat Fr www & i gl

Question ID : 98958015609
Status : Not Answered
Chosen Option : --

18 3x2+30f12—3+2%(2—-3)x2+3=20f3 T AR &
Ans 1
F R
3
23
2
W3 32
K4 —2=
Question ID : 98958015595
Status : Not Answered
Chosen Option : --
Q19
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ABCD v# @ o= § fowd AB $9W a1 g0 &7 &9 § @T <ADC = 158° g, d <BAC T
&

Ans X 1.50°
X2 38°
X3 40°
v+ 68°

Question ID : 98958015712
Status : Answered
Chosen Option : 4

Q20 3y 35in6 = 2cos?6, 0°< 6 < 90° &, & (tan @ + cosd + sinf) F AT &

Ane X1.5_‘E

6

}(2.5‘_“E

3

s 3+5v3

&

X 4. 34543

3

Question ID : 98958015605
Status : Answered
Chosen Option: 3

Q.21 3R At 3 Fr TEA B175M5)2 FEW 72 ¥ = §, Gt v & wmaE A F T ity w7
A g

Ans x1_ 8
X2 4
X3 6
v 5

Question ID : 98958015594
Status : Answered
Chosen Option : 4

Q22 ABsRCwamaisar 27 dRFiR B REF TR e 8§ A7 77 = fFm 3
f&m 912 B 38% WY 5 T N FA YE @9 F 5 TF 72 C oF 39k W@y J97, A FH @ I I
A % frae Re = e

Ans X 1.15
v 17
X318
X 4 20

Question ID : 98958015585
Status : Answered
Chosen Option : 4
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Ans X 1. 7.4 cm
v 256 cm
/358 cm
K463 cm

Q.23 AABC #, AC 3T AB s=m3 wX D 3t E g #omn 59 o § T <ADE= 4B ¥ 37X AD = 7.6 cm,
AE =72 cm, BE = 42 cm 3T BC = 84 cm §, @ DE =T &

Question ID : 98958015600
Status : Not Answered
Chosen Option : --

Frg = T o w2 e

Q24 =5 ve FEg & 7291 F =7 0w, A 3% F @i @l ¥ IR ¥ 8% ¥ W W d9T AW E, A

secl—tand cosd

Ans X 1. cosecH
X 2 coth
X 3 tanf
v 4 sing

Ans X' 1. 3308

V2 3324

X 3 3316

X 4. 3332

Question ID : 98958015591
Status : Answered
Chosen Option : 2

Q.25 i

— 2 —secO Xk 0°<0<90° & o k TET L

Question ID : 98958015604
Status : Answered
Chosen Option : 1

Section : English Language

INORDINATE
Ans J1.reasonable

x 2. extreme
x 3. exorbitant

x 4.undue

Q.1 Select the most appropriate antonym of the given word.

Question ID : 98958015332
Status : Answered
Chosen Option : 3

Q.2 Select the wrongly spelt word.

)...
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Ans x 1. curry

7% 2. curious
J 3. cursore
x 4.curse

Question ID : 98958015337
Status : Answered
Chosen Option: 3

Q.3 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. In the opening scene, the young boy Pip meets an escaped convict in a graveyard.
B. 'Great Expectations’ is a novel by Charles Dickens.

C. The novel is set in Kent and London in the early 19th century.

D. It depicts the personal growth and development of an orphan named Pip.

Ans X' 1 CBAD

/< 2.DCAB
o 3.BCDA
75 4.ABCD

Question ID : 98958015328
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

He tried to prevent his friend to smoke.
Ans X' 1 smoking

¢ 2. from smoking

x 3. to smoking

x 4.No improvement

Question ID : 98958015320
Status : Answered

Chosen Option : 2

Q.5 Select the most appropriate synonym of the given word.

CURRENT

Ans X' 1 old
x 2. antiquated
x 3.uncommon

J 4. present

Question ID : 98958015329
Status : Answered
Chosen Option : 4

Q.6 Select the word which means the same as the group of words given.
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impossible or extremely difficult to understand
Ans X' 1 inevitable

“ 2.incomprehensible
x 3. incompatible
x 4.inaudible

Question ID : 98958015336
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate word to fill in the blank.

There were not enough tinsmiths in Vienna to the lanterns for street lighting.
Ans X' 1.compose

x 2. execute

J 3. manufacture

x 4.accomplish

Question ID : 98958015339
Status : Answered
Chosen Option : 3

Q.8 Select the wrongly spelt word.
Ans  of 1 sataliite

x 2.session
x 3. satiate
x 4. settle

Question ID : 98958015338
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate meaning of the given idiom.

bite your tongue

Ans X' 1.beimpossible to be understood
x 2. getbruises in the mouth
x 3. talk for along time

“ 4. stop yourself from saying something

Question ID : 98958015334
Status : Answered
Chosen Option : 4

Q.10 In the sentence identify the segment which contains the grammatical error.

Billionaire Philip is the owner of the luxury yacht Lionheart, which worth an estimated
$150 million.

Ans X' 1. an estimated $150 million

7% 2.Billionaire Philip is
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o 3. which worth

x 4.the owner of

Question ID : 98958015315
Status : Answered
Chosen Option: 3

Q.11 Select the word which means the same as the group of words given.

a type of dome-shaped shelter built from blocks of solid snow
Ans  of 1 igloo
x 2. wigwam
x 3. chalet
75 4.hut

Question ID : 98958015335
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate antonym of the given word.

JEOPARDIZE
Ans X' 1 imperil
x 2. hazard

x 3. threaten

J 4. protect

Question ID : 98958015331
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate meaning of the given idiom.
tit for tat
Ans x 1. to reward people for the good done
x 2. to take advantage of someone
x 3. to make someone angry

“ 4.to do harm as done to you

Question ID : 98958015333
Status : Answered
Chosen Option : 4

Q.14 In the sentence identify the segment which contains the grammatical error.

On September 11, 2001, two hijacked aircrafts crashed to the World Trade Centre in
New York.

Ans X' 1.0n September 11, 2001
x 2. World Trade Centre in New York

¢ 3. crashed to the
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x 4. two hijacked aircrafts

Question ID : 98958015316
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate word to fill in the blank.

Municipal corporations have started to take of the problems of waste
management.

Ans x 1. perception
¢ 2. cognizance
x 3. attention

x 4. knowledge

Question ID : 98958015340
Status : Answered
Chosen Option : 2

Q.16 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. One fine morning, a hunter was getting ready to go hunting.

B. He pulled the blanket over the sleeping child.

C. As he did so, he thought the blanket was not warm enough.

D. Before departing, he went to see his little baby who was sleeping in a crib.

Ans X' 1 DCAB

75 2.CBAD

75 3.ACBD
o 4.ADBC

Question ID : 98958015327
Status : Not Answered
Chosen Option : --

Q.17 Select the correct indirect form of the given sentence.

The shopkeeper asked me, "Where is your car?"

Ans x 1. The shopkeeper asked me where was my car.
x 2. The shopkeeper asked me where is your car.
x 3. The shopkeeper asked me where mycaris.

J 4. The shopkeeper asked me where my car was.

Question ID : 98958015318
Status : Answered
Chosen Option : 4

Q.18 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The boys were delighted on the idea of going to Goa.
Ans X' 1. atanidea of
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\_{ 2. atthe idea of
x 3.on an idea of

x 4. No improvement

Question ID : 98958015319
Status : Answered
Chosen Option : 2

Q.19
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

Trade on the New York Stock Exchange was (1) to a standstill on an autumn day (2)
1994. The culprit for the outage (3) a squirrel that had chewed through a
power line near the computer centre of the (4) in Trumbull, Connecticut. The

shutdown (5)
capacity.

lasted for half-an- hour, resulted in the NYSE operating at 85 percent

SubQuestion No : 19

Select the most appropriate option for blank No. 1.
\_{ 1. brought
x 2. happened

x 3. taken

x 4. worked

Question ID : 98958015322
Status : Answered
Chosen Option : 1

Q.20
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

Trade on the New York Stock Exchange was (1) to a standstill on an autumn day (2)

1994. The culprit for the outage (3) a squirrel that had chewed through a
power line near the computer centre of the (4) in Trumbull, Connecticut. The
shutdown (5) lasted for half-an- hour, resulted in the NYSE operating at 85 percent
capacity.

SubQuestion No : 20

Select the most appropriate option for blank No. 2.

x1.at
W 2.in
25 3.by
X 4.0n

Question ID : 98958015323
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

Trade on the New York Stock Exchange was (1) to a standstill on an autumn day (2)

1994. The culprit for the outage (3) a squirrel that had chewed through a
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power line near the computer centre of the (4) in Trumbull, Connecticut. The
shutdown (5) lasted for half-an- hour, resulted in the NYSE operating at 85 percent
capacity.
SubQuestion No : 21
Q.21 Select the most appropriate option for blank No. 3.
Ans \_{ 1. was
& 2.has
x 3. were
25 4lis
Question ID : 98958015324
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.
Trade on the New York Stock Exchange was (1) to a standstill on an autumn day (2)
1994. The culprit for the outage (3) a squirrel that had chewed through a
power line near the computer centre of the (4) in Trumbull, Connecticut. The
shutdown (5) lasted for half-an- hour, resulted in the NYSE operating at 85 percent
capacity.
SubQuestion No : 22
Q.22 Select the most appropriate option for blank No. 4.
Ans X' 1 town
25 2.bank
x 3. store
\f 4. exchange
Question ID : 98958015325
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.
Trade on the New York Stock Exchange was (1) to a standstill on an autumn day (2)
1994. The culprit for the outage (3) a squirrel that had chewed through a
power line near the computer centre of the (4) in Trumbull, Connecticut. The
shutdown (5) lasted for half-an- hour, resulted in the NYSE operating at 85 percent
capacity.
SubQuestion No : 23
Q.23 Select the most appropriate option for blank No. 5.
Ans X' 1.who
x 2.whom
25 3.what
o 4.which
Question ID : 98958015326
Status : Answered
Chosen Option : 4
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Q.24 Select the correct passive form of the given sentence.

The Japanese Emperor Akihito abdicated the Chrysanthemum Throne in April, 2019.

Ans x 1. The Chrysanthemum Throne is abdicated by the Japanese Emperor Akihito in
April,2019.
x 2. The Chrysanthemum Throne has abdicated by the Japanese Emperor Akihito in
April 2019.
x 3. The Japanese Emperor Akihito was abdicated by the Chrysanthemum Throne in
April, 2019.

f 4. The Chrysanthemum Throne was abdicated by the Japanese Emperor Akihito in
April, 2019.

Question ID : 98958015317
Status : Answered
Chosen Option : 4

Q.25 Select the most appropriate synonym of the given word.

ADHERE
Ans X' 1 detach

x 2.release
x 3.ignore
¢ 4. comply

Question ID : 98958015330
Status : Answered
Chosen Option : 4
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